

大問 3

I (1) $\frac{\hat{L}_\pm}{\hbar} |L, m_L\rangle = \sqrt{L(L+1) - m_L(m_L \pm 1)} |L, m_L \pm 1\rangle$ 式1

$$\frac{\hat{L}_-}{\hbar} |1, 1\rangle = \sqrt{2} |1, 0\rangle$$

$$\frac{\hat{L}_-}{\hbar} |1, 0\rangle = \sqrt{3} |1, -1\rangle$$

$$\frac{\hat{L}_-}{\hbar} |1, -1\rangle = 0$$

$$\frac{\hat{S}_-}{\hbar} |\frac{1}{2}, \frac{1}{2}\rangle = |\frac{1}{2}, -\frac{1}{2}\rangle$$

$$\frac{\hat{S}_-}{\hbar} |\frac{1}{2}, -\frac{1}{2}\rangle = 0$$

(2) $\frac{\hat{J}_-}{\hbar} |\frac{3}{2}, \frac{3}{2}\rangle = \sqrt{3} |\frac{3}{2}, \frac{1}{2}\rangle$

$$\begin{aligned} \frac{\hat{J}_-}{\hbar} |\frac{3}{2}, \frac{3}{2}\rangle &= \frac{\hat{L}_- + \hat{S}_-}{\hbar} |1, 1; \frac{1}{2}, \frac{1}{2}\rangle \\ &= \frac{\hat{L}_-}{\hbar} |1, 1; \frac{1}{2}, \frac{1}{2}\rangle + \frac{\hat{S}_-}{\hbar} |1, 1; \frac{1}{2}, \frac{1}{2}\rangle \\ &= \sqrt{2} |1, 0; \frac{1}{2}, \frac{1}{2}\rangle + |1, 1; \frac{1}{2}, -\frac{1}{2}\rangle \end{aligned}$$

よって

$$|\frac{3}{2}, \frac{1}{2}\rangle = \sqrt{\frac{2}{3}} |1, 0; \frac{1}{2}, \frac{1}{2}\rangle + \sqrt{\frac{1}{3}} |1, 1; \frac{1}{2}, -\frac{1}{2}\rangle$$

(3) $J = \frac{1}{2}$ のとき, $|\frac{1}{2}, \frac{1}{2}\rangle = \alpha |1, 0; \frac{1}{2}, \frac{1}{2}\rangle + \beta |1, 1; \frac{1}{2}, -\frac{1}{2}\rangle$ と仮定し $\alpha^2 + \beta^2 = 1$

正交条件より

$$\begin{aligned} \langle \frac{3}{2}, \frac{1}{2} | \frac{1}{2}, \frac{1}{2} \rangle &= \sqrt{\frac{2}{3}} \alpha \langle 1, 0; \frac{1}{2}, \frac{1}{2} | 1, 0; \frac{1}{2}, \frac{1}{2} \rangle \\ &\quad + \sqrt{\frac{1}{3}} \beta \langle 1, 1; \frac{1}{2}, -\frac{1}{2} | 1, 1; \frac{1}{2}, -\frac{1}{2} \rangle = 0 \end{aligned}$$

$$\therefore \sqrt{\frac{2}{3}} \alpha + \sqrt{\frac{1}{3}} \beta = 0$$

$$\begin{cases} \alpha^2 + \beta^2 = 1 \\ \sqrt{\frac{2}{3}}\alpha + \sqrt{\frac{1}{3}}\beta = 0 \end{cases} \rightarrow \begin{cases} \beta = -\sqrt{2}\alpha \\ \alpha^2 + 2\alpha^2 = 1 \\ 3\alpha^2 = 1 \end{cases} \quad \begin{cases} \alpha^2 = \frac{1}{3} \\ \alpha = \sqrt{\frac{1}{3}} \\ \beta = -\sqrt{\frac{2}{3}} \end{cases}$$

$$\text{LK } \alpha \quad \left| \frac{1}{2}, \frac{1}{2} \right\rangle = \sqrt{\frac{1}{3}} \left| 1, 0; \frac{1}{2}, \frac{1}{2} \right\rangle - \sqrt{\frac{2}{3}} \left| 1, 1; \frac{1}{2}, -\frac{1}{2} \right\rangle //$$

(4) (3) ∈ ~~an~~ \mathbb{R}^2 .

$$\left| \frac{1}{2}, -\frac{1}{2} \right\rangle = \alpha \left| 1, 0; \frac{1}{2}, \frac{1}{2} \right\rangle + \beta \left| 1, 1; \frac{1}{2}, -\frac{1}{2} \right\rangle$$

$$\left\langle \frac{1}{2}, \frac{1}{2} \left| \frac{1}{2}, -\frac{1}{2} \right\rangle = \sqrt{\frac{1}{3}}\alpha - \sqrt{\frac{2}{3}}\beta = 0$$

$$\begin{cases} \alpha^2 + \beta^2 = 1 \\ \sqrt{\frac{1}{3}}\alpha - \sqrt{\frac{2}{3}}\beta = 0 \end{cases} \rightarrow \begin{cases} \alpha = \sqrt{2}\beta \\ 2\beta^2 + \beta^2 = 1 \end{cases} \quad \begin{cases} \alpha = \sqrt{\frac{2}{3}} \\ \beta = \sqrt{\frac{1}{3}} \end{cases}$$

$$\left| \frac{1}{2}, -\frac{1}{2} \right\rangle = \sqrt{\frac{2}{3}} \left| 1, 0; \frac{1}{2}, \frac{1}{2} \right\rangle + \sqrt{\frac{1}{3}} \left| 1, 1; \frac{1}{2}, -\frac{1}{2} \right\rangle$$